
Back Mount Assy

Model
1

3
4
5
6

QuantityDescription
1

2

4
4
4
4

Street Name Sign

Bracket Steel Pipe(Diameter 48mm)

V-Shaped Clamp

M16 Bolts

Ø16 Spring Washers

M16 Nuts

Ø16 Flat Washers

1

4

3

Tube saddle
4

7
8
9 8

8
8

Ø10 Spring Washers

M10 Nuts

Ø10 Flat Washers

12

10
11

4
1

Steel belts
Mast arm(not included)

Adjust the saddle accordingly to 
plumb and level street name sign

Tighten the steel belts

Adjustment position 
and lock nut

2 2

2

5

6
7

8

9
10
11

12
13

Install the back mount assy and tighten the bolts

13

Sliding adjustment

Pay attention to the 
locking direction
(Clockwise locking)

Remove the 
bolts and nuts

Open the 
door frame

LED street name sign

Installation steps

Step ① Step ②

Step ③Step ④

Tube saddle kit

Unscrew the M24 nut and roate tube 
saddle for vertical or horizontal direction


